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PROBLEMA 3:

Dados los siguientes datos calcular Hy, y Pm.
Di: 120mm, Ds: 250mm, n: 1750rpm, b;: 30mm, by:12mm, B,: 30°, Bi: 15°, a;: 90°,
82:0.9, nu: 88%, Nm: 99%, nyv: 91%.

Solucion:
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o RN L Lt I (1)
U;=(IT*Dy*n)/60  U;=(I1*0,25%1750)/60 U,=22,91 m/s
Ui=(IT*Dy*n)/60  U;=(IT*0,12*1750)/60 U;=11 m/s
Q=Vmi*A= (U *tg (B1))* IT*D;*b, Q =(11*tg (15°))*11*0,12*0,03
Q=0,033m’s
Vimz = Q/(II*Dy*02*82) Ve = 0,033/( I1*0,25%0,012*0,9) V.3=3,89m/s
Ha = (U2*Vi2)-(Ur*Vu))/g Nétese que V,;;=0 porque 0.1=90°
Hp = ((U2*(U2 - Vip*ctg (B2)))/g  Han = ((22,91*(22,91 — 3,89*ctg (30°)))/9,81
Hu=37,77m

P = (y*Q*H) Ny Pnh=123 KW




